SN EHAEIIED
M 0SB D BHBS(AMSSX/2S - ISL0I4)
SHel: AEFBDIE S U HESANL N ECRED
SA - B o(3H) - NEANY - BES 0 & o8 J1= ol H@=2
P=E-PXEpE 157,006,879 153,018,357 3,988,522
2 97, 179,044 97, 107,260 71,784
3 6,138,000 4,238,000 1,900,000
| 9,606,891 9,203,206 403,685
= 1,321,873 1,162,100 169,773
= 42,761,071 41,317,791 1,443,280
ClAFHD FHBS(MBISI/2S - IEU0Y) 6,157,401 5,799,600 357,801
2 40,220 613,209 306,921
| 2,420,312 2,476,644 756,332
= 307,472 306,700 772
= 2,489,397 2,400,957 86,440
SEREIIY PE U HESANL N 2,752,993 2,376,740 376,253
2 743,323 400,000 343,323
| 03,000 131,800 £28,800
= 275,200 275,200 0
= 1,631,470 1,569,740 61,730
ClAIIENE B 74,570 73,820 750
301 LetEa= 750 0 750
CECEECEERE 750 0 750
OMIISXYD BE SAl| 750 0 750
HATHOL HAX VALY (2D) 808,223 438,000 370,223
2 743,303 400,000 343,323
= 64,900 38,000 26,900
308 XHXISHHISOIH 808,223 438,000 370,223
2 743,323 400,000 43,323
= 64,900 38,000 26,900
01 XXISHZHEES 808,223 438,000 370,223
OFFQIEH 2% 302,400 252,000 50,400
2 288,000 240,000 48,000
= 14,400 12,000 2,400
OY - IFYBS S HAXNAMHIA KB 87,000 48,000 39,000
2 72,500 40,000 32,500
= 14,500 8,000 6,500
OFLLAA 2Y S HANAHIA KB 216,000 108,000 108,000
2 180,000 90,000 90,000
= 36,000 18,000 18,000
ONYUREMUTZIY 2 202,823 30,000 172,823
2 202,823 30,000 172,823
2201017 NALT2 HAHHARS (2 D) 30,000 0 30,000
| 30,000 0 30,000
308 XHXISHHISOIE 30,000 0 30,000
| 30,000 0 30,000
0l XIXISHBLZES 30,000 0 30,000
OZE0IRGILOIERIAIY XIR 30,000 0 30,000
| 30,000 0 30,000
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A S EAEIIED

H: OS] YEBS(MISX/2S - HSL0IA)

SHol: ERSIIE 1F U HESAHY N EEER-ED
SN - B aQ(3H) - NBAY - BE=S Ofl &b ot = HIRS2
CICHASHRIOINZMIES XIRAIR(2 D) 0 117,600 A117,600

| 0 58,800 58,800

= 0 58,800 58,800

308 XHXISHHISOI® 0 117,600 A117,600
| 0 58,800 58,800

= 0 58,800 58,800

0l XXISHZLSES 0 117,600 A117,600
OO CHMH2IOH L HE] XIS 0 117,600 A117,600

| 0 58,800 58,800

= 0 58,800 58,800

ClaQIINLHE 2 394,000 344,000 50,000
= 275,200 275,200 0

= 118,800 68,800 50,000

402 2IFHTH2O0IF 50,000 0 50,000
01 PIAKZEE 50,000 0 50,000
OLSOILINLHE DSTH| 2 50,000 0 50,000
AACWOIHY HYEY L HAX 90,000 50,000 40,000
307 2I2b0IF 90,000 50,000 40,000
10 ABI=X2Z 90,000 50,000 40,000
OFRQIEH 2% 90,000 50,000 40,000
AE=TAL 2% =7 277,200 274,320 2,880
308 XHXISHHISOIF 198,720 195,840 2,880
01 XIXISHBLSES 198,720 195,840 2,880
ONZ AEISXIAIL BSAR =X+ 198,720 195,840 2,880
Ol&ol ASIEIO STH U @ MY 171,703 164,931 6,772
= 3,272 31,500 772

= 139,431 133,431 6,000

M GIEXIEX T4 19,870 13,870 6,000
307 2I2H0IF 19,870 13,870 6,000
NEETEES 19,870 13,870 6,000
OUEXIER 9I3S 6,000 0 6,000
CEESTBIEEDY 34,462 33,690 772
= 3,272 31,500 772

= 2,190 2,190 0

201 Yer2y| 9,462 8,690 772
= 7,072 6,500 772

= 2,190 2,190 0

01 AfRZ2lH] 9,462 8,690 772
ONEFE 0182 I G8A X 7,072 6,500 772

= 7,072 6,500 772

OGS U oY 3,232,705 3,257,929 ~25,224
2 196,897 213,299 £16,402
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A
X-I J:H
Che|:

GEEAEIIED
GRSESES IS “%‘%(MEEXI/E%’; - IIEHNY)
HyeldEs 2 o

o 0> J

2A - FH - S (3H) - HIRASY - Ol &k o4 JIEA Hns2
] 2,317,312 2,344,644 27,53
= 718,4% 699,786 18,710
SOHOHIIGH R KIR(22) 266,660 286, 180 £19,520
= 196,897 213,299 A16,402
= 69,763 72,881 £3,118
308 KHXISHHISOI® 266,660 286, 180 £19,520
= 196,897 213,299 £16,402
= 69,763 72,881 23,118
01 XIRSHZAEEZ 266,660 286,180 219,520
OSUHHIIGHA NBAL 2% 65,660 87,265 £21,606
= 54,073 71,865 A17,792
= 11,587 15,400 23,813
OBRIISYSIAIY +BASL 2 47,085 45,000 2,085
= 31,390 30,000 1,390
< 15,695 15,000 6%
IEE - 4= BSAIAH PH(21) 1,003,200 1,133,070 139,870
p] 1,035, 120 1,075,029 £39,909
= 58,080 58,041 39
307 212+0/& 1,003,200 1,133,070 139,870
p] 1,035, 120 1,075,029 39,909
= 58,080 58,041 39
10 AlBI=XI2E 1,003,200 1,133,070 139,870
ORASKHHE 2% X 193,600 193,470 130
pJ 135,520 135,429 91
= 58,080 58,041 39
OdfHiZl)| OLSHIE 2% X 402,600 432,600 £30,000
p] 402,600 432,600 £30,000
OslHlZII] K4 - OISHE 2% X 497,000 507,000 £10,000
b 497,000 507,000 210,000
SZags U DHESAIE SR (2D) 245,162 241,412 3,750
p] 171,861 169,361 2,500
= 73,301 72,051 1,250
403 RXISHHSKH20IH 3,750 0 3,750
| 2,500 0 2,500
= 1,250 0 1,250
01 XXSHAESE 3,750 0 3,750
ONZALMNA BEALE JIs2Y 3,750 0 3,750
p] 2,500 0 2,500
= 1,250 0 1,250
IHEE . 422 Dl RE - ASEZ2I(21) 91,414 74,192 17,022
p] 81,000 65,740 15,260
= 10,414 8,452 1,962
308 XHXIEHRISOIH 91,414 74,192 17,222
p] 81,000 65,740 15,260
= 10,414 8,452 1,962
01 XXIEHZAEES 91,414 74,192 17,222
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FA: HEEAEIFD
FH: (ML LHBS(MISI/ES - IIFL0E)
Eelr fdeAESs 2 oollg

SA-ZHH - S(3A) - NEANY - BES Ol &+ 24 8 Husz
OJIE == Ittt wE - AIZZZ I 81,257 64,035 17,222
Il 72,000 56,740 15,260
=S 9,257 7,295 1,962
ZHII6H ol=0e E5(=1) 108,395 114,931 26,536
Il 89,266 94,649 25,383
= 19,129 20,282 21,153
308 XXIEtHISO0IH 108,395 114,931 26,536
Il 89,266 94,649 25,383
= 19,129 20,282 21,153
01 HXEHMBAEXS 108,395 114,931 26,536
OZHIW0IFHE ESAIE 2 K& 84,935 91,471 26,536
Il 69,946 75,329 25,383
== 14,989 16,142 21,153
HASEALY X3 61,010 41,280 19,730
307 gIzto|d 2,000 0 2,000
10 ARSI E 2,000 0 2,000
ON&Eg2E R5Al4 FIt XA('10E=2) 2,000 0 2,000
308 XXIEHHISOI& 59,010 41,280 17,730
01 AXSHBLEES 59,010 41,280 17,730
OJtE - §Z84EA 23 14,930 14,000 930
ONEEHAAH 25:A14 FIt XA('10EE) 16,800 0 16,800
IE - Ols & ESXA(MSISR/ES - HELHE) 138,523,066 136, 143,502 2,379,564
= 95,208,592 95,513,961 A305,369
& 1,900,000 0 1,900,000
7l 5,159,021 4,720,684 438,337
= 829,045 723,400 105,645
& 35,426,408 35,185,457 240,951
A&0HE 28 =4 9,342,775 8,820,838 521,937
= 2,900,835 2,900,834 1
Il 5,159,021 4,720,684 438,337
= 1,282,919 1,199,320 83,599
CH2sHEXIE UWERT 75 298 21,500 1,500 20,000
308 XXIEtHSOI& 20,000 0 20,000
01 UHXISHMBAERS 20,000 0 20,000
OUZ3IIEXNZUERD HE XA 20,000 0 20,000
s S22 XA (=) 161,160 109,200 51,960
7l 134,300 91,000 43,300
== 26,860 18,200 8,660
308 XXIEHISO0IH 161,160 109,200 51,960
Il 134,300 91,000 43,300
== 26,860 18,200 8,660
01 UHXIEMBAEXS 161,160 109,200 51,960
OJIEHEE e K& 161,160 109,200 51,960
Il 134,300 91,000 43,300
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2N HEEAEIE

FH: OIS - OIS U 2SR (ASSX/2S - IEL0S)

Sl AXILY 23t X4 EERED

2AH -2 . HA(SH) - NIBAY - BHES Oif &+24 JIEH Hns2
T = 26,860 78,200 8,660
OlIE20 X (21) 2,626,061 2,658,734 ~32,673
= 2,418,735 2,448,834 £30,099
< 207,326 209,900 A2,574
308 XHXISHHISOI® 2,626,061 2,658,734 A32,673
= 2,418,735 2,448,834 £30,009
< 207,326 209,900 ~2,574
01 KXISHILRES 2,626,061 2,658,734 A32,673
©0H0IE20| XIR 2,626,061 2,658,734 A32,673
= 2,418,735 2,448,834 £30,099
< 207,32 209,900 ~2,574
OlIS20 XY HFIIZ 2%(2D) 43,000 0 43,000
= 30,100 0 30,100
= 12,900 0 12,900
307 BI2H0I 43,000 0 43,000
= 30,100 0 30,100
= 12,900 0 12,900
EESEES 43,000 0 43,000
©O0I0IS20l XIR AHEIIZ 2Y 43,000 0 43,000
2 30,100 0 30,100
= 12,900 0 12,900
CRSIISXIRME2Y(2D) 847,350 602,000 245,350
I 847,350 602,000 245,350
308 XHXISHHISOIR 847,350 602,000 245,350
ol 847,350 602,000 245,350
01 XIXISHBARES 847,350 602,000 245,350
OLIRSIISNRHME 2 847,350 602,000 245,350
g 847,350 602,000 245,350
CHRSIIS Y2DSA(22) 1,738,503 1,587,610 150,893
g 1,601,255 1,462,272 138,963
= 137,248 125,338 11,910
308 XHXISHHISOIR 1,738,503 1,587,610 150,893
p 1,601,255 1,462,272 138,983
= 137,248 125,338 1,910
01 XIXISHIARES 1,738,503 1,587,610 150,893
OLI2EIIE wens 1,738,503 1,587,610 150,893
g 1,601,255 1,462,272 138,983
= 137,248 125,338 1,910
CHRSDHY SHAUIA XIR(2D) 191,497 180,576 10,921
g 176,381 166,320 10,061
< 15,116 14,256 860
308 XHXIEHHI SOl 191,497 180,576 10,921
g 176,381 166,320 10,061
= 15,116 14,256 860
B Er=E= 191,497 180,576 10,921
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EAM: HE8EAEIEL

H: IS - 015 L ESNR(AISN/ES - ISL0E)

Sl AWIIY 23 =4 (Sl &)

2AH-ZH - () - HREAY - BES Oil &+ I3 HlusZ
CEREENTESE 191,497 180,576 10,921
g 176,381 166,320 10,061
= 15,116 14,256 860
CHESIOME XA QIOI2ZXIRAHIA(ZD) 290,671 113,902 176,769
p 267,724 104,909 162,815
= 22,047 8.993 13,954
308 KHXIEHHISOIH 290,671 113,902 176,769
p 267,724 104,909 162,815
= 22,047 8,993 13,954
01 RXISHZA2ES 290,671 113,902 176,769
OLIESIIE X ojee X 290,671 113,902 176,769
p 267,724 104,909 162,815
= 22,047 8,993 13,954
CH2EHY X QoIS THmAl 2%(21) 61,755 0 61,755
g 56,880 0 56,880
= 4,875 0 4,875
308 XHXIEHHI SO 61,755 0 61,755
p 56,880 0 56,880
= 4,875 0 4,875
01 RXISHZL2ES 61,755 0 61,755
OLI23HE Xl QOIS DA 2 61,755 0 61,755
g 56,880 0 56,880
= 4,875 0 4,875
MASSSRIHE HEOIE | 424,960 412,060 12,900
308 XHXIEHHI SO 424,960 412,060 12,900
01 RXISHBAEES 424,960 412,060 12,900
orystesra 78,900 66,000 12,900
RIS SXAIE JISEY(2D) 30,945 0 30,945
p 11,000 0 11,000
= 19,945 0 19,945
403 XXISHSIHZ0IH 30,945 0 30,945
Jl 11,000 0 11,000
= 19,945 0 19,945
01 RIXISHXHERE 30,945 0 30,945
OSERINE=ZXIAL Jls2Y 16,500 0 16,500
g 11,000 0 11,000
= 5,500 0 5,500
OB RIIE=TAE JISE2( 10EE) 14,445 0 14,445
YAW BRINYXE AIY(2D) 246,713 516,99 £270,283
g 219,300 459,552 £240,252
= 27,413 57,444 30,031
308 KHXIEHHSOIH 246,713 516,99 A270,283
g 219,300 459,552 240,252
= 27,413 57,444 A30,081
01 RXISHZAEEZ 246,713 516,99 £270,283
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SN S EAEIIED
E: OIS - 018 ¥ BSXW(ASEX/2S - ISU0E)
S9l: AFIIE 23 £4 EEREN
2A -3 . HA(SA) - NBEAY - BES Ol &t 24 I8 Huns2
CEEEIEEE 246,713 516,99 A270,283
g 219,300 459,552 £240,252
= 27,413 57,444 230,031
AW M2 UABN 2H| NV (2D) 20,400 0 20,400
p 10,200 0 10,200
= 10,200 0 10,200
307 212t01F 20,400 0 20,400
p 10,200 0 10,200
= 10,200 0 10,200
EETEES 20,400 0 20,400
OFAE AT YABA O|2H| X 20,400 0 20,400
ol 10,200 0 10,200
= 10,200 0 10,200
IS SRAEIA XIR 19,550, 942 17,227,221 2,323,721
3 9,406, 122 9,209,953 196, 169
= 1,900,000 0 1,900,000
= 829,045 723,400 105,645
= 7,415,775 7,293,868 121,907
SSOISMEOIE XIS 86,899 51,000 35,899
308 XHXISHHISOI® 86,899 51,000 35,899
01 KXISHZARES 86,899 51,000 35,899
OFHAFXIS 15,600 6,000 9,600
ousrst=s 45,715 25,000 20,715
os2HL Yl 17,664 13,000 4,664
©45t018H| 7,920 7,000 920
ots=24l K& 5,232,605 5,227,725 4,880
308 XHXISHHISOI® 5,224,605 5,219,725 4,880
01 XXESHZL2ES 5,224,605 5,219,725 4,880
OZAIOIE TAIZHE SEH| 18,480 13,600 4,880
NHOISHE SFXV (D) 4,166,810 3,992,568 174,242
=2 3,472,342 3,327,140 145,20
= 694,468 665,428 29,040
308 XHXISHHISOI® 4,166,810 3,992,568 174,242
2 3,472,342 3,327,140 145,202
= 694,468 665,428 29,040
R EP=E= 4,166,810 3,992,568 174,242
OXIS0ISHE 2% 4,166,810 3,992,568 174,242
= 3,472,342 3,327,140 145,20
< 694,468 665,428 29,040
YU0IE YBLY KA(21) 244,416 255,360 £10,944
= 225,120 235,200 £10,080
= 19,296 20, 160 ~864
308 RHXISHHISOIR 244,416 255,360 £10,944
= 225,120 235,200 £10,080
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BA:
OIS - ot ¥ ESXNE(MESX/ES - IIEZ0L)

X—i iH

HedFAEII=

&2 OtSSXIMEIA XI& (et &=R)
S - FHH .G (BH) - MEAY - BES 0l & o plE=LT Hlms2t

= 19,296 20,160 2864

01 AXHMBAEES 244,416 255,360 210,944

OYLlts As+H 244,416 255,360 210,944

= 225,120 235,200 210,080

= 19,296 20,160 2864

UL+2 XJA(=21) 32,195 44,265 212,070

= 29,653 40,770 A11,117

& 2,542 3,49 2953

308 XHXIEHHISOIA 32,195 44,265 212,070

= 29,653 40,770 A11,117

= 2,542 3,49 A953

01 RXSHHBAEES 32,195 44,265 212,070

oYY =2 32,195 44,265 212,070

= 29,653 40,770 A11,117

& 2,542 3,495 2953

OIS YLYRExS(21) 39,753 44,171 24,418

= 36,616 40,684 24,068

= 3,137 3,487 A350

308 XXX SOIM 39,753 44,171 24,418

= 36,616 40,684 24,068

= 3,137 3,487 A350

01 RXEHBHEES 39,753 44171 24,418

OXOtS LYLAEEXF 39,753 44,171 24,418

= 36,616 40,684 24,008

= 3,137 3,487 A350

OLSZ XA X (31) 539,852 491,829 48,023

= 497,232 453,000 44,232

= 42,620 38,829 3,791

308 XtXICHMISOI&E 539,852 491,829 48,023

= 497,232 453,000 44,232

= 42,620 38,829 3,791

01 AXSHHBAEEZ 539,852 491,829 48,023

OCDA DHEXI&Z 539,852 491,829 48,023

= 497,232 453,000 44,232

= 42,620 38,829 3,791

OrSEXIAE JIsEZ K& (21) 98,400 0 98,400

= 32,000 0 32,000

== 66,400 0 66,400

403 RXISHSKHE01H 98,400 0 98,400

= 32,000 0 32,000

= 66,400 0 66,400

01 XAXSHAMXE2EE 98,400 0 98,400

O0ts=EXIAE JIs2Z K& 38,400 0 38,400

= 32,000 0 32,000

= 6,400 0 6,400

©28 HEIldh ots=XAE =53 60,000 0 60,000
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SN HEEAEIIED
HE: LS - OIS 2 BSXR(MSIZX/2S - HELKA)
SHol: OIS SXIALIA X1

SA - B G9I(B0) - MIRAY - BAS 0l & o e HRS2
OISUYNESBAL 2 422,709 363,000 59,709
= 293,445 217,800 75,645
< 129,264 145,200 ~15,936
307 I2H0IH 422,709 363,000 59,709
2 293,445 217,800 75,645
= 129,264 145,200 A 15,936
10 AlBIEXI2X 422,709 363,000 59,709
OOISLANEBAE 2Y 422,709 363,000 59,709
= 293,445 217,800 75,645
= 129,264 145,200 A 15,936
OISESHSIZ 2Y 586,000 556,000 30,000
= 363,600 333,600 30,000
= 222,400 222,400 0
307 2I2+0IH 586,000 556,000 30,000
= 363,600 333,600 30,000
= 222,400 222,400 0
10 ALBI=XI2X 586,000 556,000 30,000
OOISESHLI |2 29 586,000 556,000 30,000
2 363,600 333,600 30,000
< 222,400 222,400 0
ORIOIAHS AT POIT L H(2 1) 1,900,000 0 1,900,000
2 1,900, 000 0 1,900,000
403 XXISHHISXHE0IH 1,900,000 0 1,900,000
Z 1,900,000 0 1,900,000
01 XXISHRZEE 1,900,000 0 1,900,000
OORI0IAHH AT S 01T =(CCTV) X 1,900,000 0 1,900,000
= 1,900,000 0 1,900,000
BSAHIA 2t 109,629,349 110,005,443 466,094
= 82,901,635 83,403,174 A501,539
= 26,727,714 26,692,269 35,445
BRAIL S N (2D) 462,398 442,898 19,500
= 355,690 340,690 15,000
= 106,708 102,208 4,500
403 RXISHSKH=Z0IR 462,398 442,8% 19,500
= 355,690 340,690 15,000
= 106,708 102,208 4,500
01 XXSHRZLE 462,398 442,898 19,500
oME4 312,000 292,500 19,500
= 240,000 225,000 15,000
= 72,000 67,500 4,500
HASE ASESE NV (2D) 75,618, 140 76,204,327 586,187
= 58,032,526 58,618,713 586,187
= 17,585,614 17,585,614 0
308 XHXISHHISOIH 75,618,140 76,204,327 586,187
= 58,032,526 58,618,713 586,187
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SN OfEFAEIIST
E: OIS - 015 L 2SXV(MISX/ES - IEL0IE)
crel: ERAHIA 28 CEERED
2N - .G (3AH) - MRAY - HES Oi &t I8 Hus2
= 17,565,614 17,585,614 0
01 RXSHZARES 75,618, 140 76,204,327 £586,187
o¥ROIZSE X 75,618, 140 76,204,327 586, 187
= 58,032,506 58,618,713 ~586,187
= 17,585,614 17,585,614 0
ZTY BSAE(2D) 532,713 432,120 100,593
= 402,048 332,400 69,648
= 130,665 99,720 30,945
308 XXISHHISOIH 532,713 432,120 100,593
= 402,048 332,400 69,648
= 130,665 99,720 30,945
01 RXSHZL2ES 532,713 432,120 100,593
OB2E 2SAL 532,713 432,120 100,593
= 402,048 332,400 69,648
T 130,665 99,720 30,945
Dl A HAE SH(ASIEX/ =0l - FAH) 11,189,670 11,041,8% 147,775
= 1,030,232 980,000 50,232
= 4,238,000 4,238,000 0
g 2,027,558 2,005,878 21,680
= 185,356 122,000 63,356
= 3,708,524 3,696,017 12,507
HAW 84 D20 29 1,611,937 1,532,737 79,200
p 766, 155 744,475 21,680
= 845,782 788,262 57,520
TTABAL T2 2%(27) 74,400 73,400 1,000
p 72,600 69,400 3,200
= 1,800 4,000 A2,200
307 2I2+0IF 3,600 8,000 A4,400
p] 1,800 4,000 A2,200
€ 1,800 4,000 A2,200
EENEES 3,600 8,000 £4,400
OTZHAUSUAL T2 2 3,600 8,000 ~4,400
p 1,800 4,000 A2,200
= 1,800 4,000 A2,200
308 XX SHHISOIH 70,800 65,400 5,400
p 70,800 65,400 5,400
01 RXISHBAREZ 70,800 65,400 5,400
OZTZHAULMAIL Z2IY 29 70,800 65,400 5,400
Il 70,800 65,400 5,400
DTABAIL BAEXTAL BHXI(2D) 297,960 269,760 28,200
p] 278,520 260,040 18,480
= 19,440 9,720 9,720
307 QI2HOIH 38,880 19,440 19,440
g 19,440 9,720 9,720
= 19,440 9,720 9,720
N EEEES 38,880 19,440 19,440

- 231 -



A

PSP

DIEH /\“'E x**&—i S (AESX/ el - A

)

e

B9 HAW 84 ZzIB 2% CoR:E
B - M. () - HEAY - BHAES Off &koH Jjao HmE2

OBATR AN thl X 38,880 19,440 19,440

pll 19,440 9,720 9,720

< 19,440 9,720 9,720

308 XHXIEHHISOIA 259,080 250,320 8,760

J| 259,080 250,320 8,760

01 RXSHZAEED 259,080 250,320 8,760

OEAEXITA HHX| X/ 259,080 250,320 8,760

p] 259,080 250,320 8,760

LAISE 2ROILUS 2 50,000 0 50,000

308 RHXISHHISOIA 50,000 0 50,000

01 KIXISHZ AR RS 50,000 0 50,000

OZAIISE ZHOIAUS 2 X 50,000 0 50,000

HAEES U MG BE 3,501,395 3,432,820 68,575

= 1,030,232 980,000 50,232

p] 1,061,403 1,061,403 0

= 185,356 122,000 63,356

& 1,024,404 1,060,417 A45.013

HAEMSTRNE 2 254,000 244,000 10,000

= 185,35 122,000 63,356

= 68,644 122,000 53,356

307 BI2H0IA 254,000 244,000 10,000

= 185,356 122,000 63,356

= 68,644 122,000 A53,3%

10 ABI=XEE 254,000 244,000 10,000

OBAHATNRME 2% 254,000 244,000 10,000

= 185,35 122,000 63,356

= 68,644 122,000 253,35

HAE SISO0PIEI0 2%(21) 1,017,216 958,641 58,575

= 908,232 858,000 50,232

= 108,984 100,641 8,343

307 QI2H0IA 217,968 201,282 16,686

= 108,984 100,641 8,343

= 108,984 100,641 8,343

10 ABI=XIEE 217,968 201,282 16,686

O = OI3IHI0l 8 217,968 201,282 16,686

= 108,984 100,641 8,343

[ 108,984 100,641 8,343

308 XHRISHIISOIA 799,248 757,359 41,889

= 799,248 757,359 41,889

01 RXISHZARES 799,248 757,359 41,889

OAIZ WIS 03Dl 2 799,248 757,359 41,889

- 799,248 757,359 41,889

NS HAH| (018 HAEIIED) (JIEHIIEH 42,610 33,360 9,250

=& 42,610 33,360 9,250
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BA: HEdEAEIIEH

Ha: HY2HZHI(HEFHAEIIED)(DIEHIIE

el JI= &I (S & &)
SN HE . SA(B) - NRAY - BES 0 st BlE-L" HimE=]

EM2Y 23] 42,610 33,360 9,250
201 B2 27,720 24,720 3,000
01 A2l 27,720 24,720 3,000
A2 AHR22ltl 27,720 24,720 3,000
202 O4d| 9,840 8,640 1,200
01 SLHAYI 9,840 8,640 1,200
EA2E =AY 9,840 8,640 1,200
405 THaHFESHI 5,050 0 5,050
01 XL ESZHEHI 5,050 0 5,050
OTA(10H) 350 0 350
©0A &XI 4,700 0 4,700
HREs(6E3AEE(MBISX/ES - IIFR0Y) 1,094,132 0 1,094,132
BEXE 1,094,132 0 1,004,132
EF-I01F L HLER2 tHEs 1,094,132 0 1,004,132
802 BrEt=JIE 1,094,132 0 1,094,132
01 S NBX3LHE3 15,960 0 15,960
©'10 2 - JIIERE0IsS delXlz XNJAY 15,960 0 15,960
03 UHHIS 1,078,172 0 1,078,172
©'09 &JIE EYEFY Ots=4ldl 1,078,172 0 1,078,172
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